REVISIONS
[> NOTES: ¢ DOOR I @ ] 'OCOCRIPTION owre APPROML.
1. NON_IMPACT GLAZING OPTIONS: 13 GA HORIZ ANGLE A 20 GA CENTER STILE __“PWL [107272017[ esc |
A. 16 X 9.75 CLEAR OPENING INSTALLED TOP OR AN T T REV PER ER 9/25/18 | esc]
INTERMEDIATE SECTION. MINIMUM 20 GA HEET [31052] € | ueoare wotes apo ue cera ﬁﬁé& [ esc]
GLAZING SSB (0.090") MINIMUM. 13 GA FLAG ANGLE END STILE - s H006D Fg/06 Noms rof T 2 Te
MAY INCLUDE, DECORATIE INSERTS. \
NOT AVAILABLE IN MORE TH SECTION. . .
DOES NOT SATISFY wmnsomz—nssms 16 GA MIN HORIZ B
TRACK - | 'Q'
2 IMPAcT GLAZING OPTION: o Lo
X 9.75 CLEAR OPENING 5/ 16x1—5/8'\ T % o] °
euzmc 1/4" GROOVED POLYCARBONATE ALUMINUM LAG SCREW (MIN 3 . ° )
FRAMES WITH 10 SCREWS MAY INCLUDE DECORATIVE AS SHOWN) Ay B
INSERTS INSTALLED IN TOP OR INTERMEDIATE SECTION. .
NOT AVAILABLE IN MORE THAN ONE SECTION. (4}‘1/4—20)(9/15' LARGE — | l
SEE ASSEMBLY DETAIL ON SHEET 2. EAD TRACK BOLTS OR o
1/4—20 STUDS WITH 3
3. VINYL OR WOOD DOOR STOP NAILED A MAXIMUM OF 1/4=-20 HEX NUTS 1
6" 0.C. MUST OVERLAP TOP AND BOTH ENDS OF = 4 :
PANELS MINIMUM 7/16" TO MEET NEGATIVE PRESSURES. 16 GA MIN VERT — C Lo LT :
4. KEY LOCK, SLIDE LOCKS, OR OPERATOR REQUIRED. TRACK i SHEET ol L3
1/4-20x9/16" TRACK B o
LOUVER OPTION — .032" MINIMUM LOUVERS IN BOLT AND 1/4-20 HEX o g
MOLDED FRAMES SCREWED TOGETHER A MINIMUM T AT EACH JB—US HEET
OF (10) #8x1” SCREWS INSTALLED IN THE .jma BRAQ(Er LOCATION
SECTION. LOUVERS ARE NOT IMPACT RESISTANT D 00 I
NOT MEET THE REQUIREMENTS FOR WIND—BORNE DEBRIS U
REGIONS, 5/16x1-5/8" LAG —~_| . .
W , .
6. SECTION STEEL TO HAVE A MINIMUM 25 GA sffﬁg ;‘,{,&%
THICKNESS. \ . b
7. THE DESIGN OF THE SUPPORTING STRUCTURAL A °
ELEMENTS SHALL BE THE RESPONSIBILITY OF THE o
PROFESSIONAL OF RECORD FOR THE BUILDING OR 15 GA STIFFENED H °
STRUCTURE AND IN ACCORDANCE WITH CURRENT JAMB BRACKETS ° .
BUILDING CODES FOR THE LOADS LISTED ON THIS SEE SCHELDULE FOR :
DRAWNG. QUANITY, LOCATION,
AND TYPE == 0
8. DOOR JAMB TO BE MINIMUM 2° X s GRADE 2
SOUTHERN PINE. REFER TO JAMB CON| /
smsgrﬂn?zw FOR ATTACHMENT TO SUPPOR11NG KEY LOCK OR SUIDE LOCK
EACH END (NOT REQUIRED Lo
9, FOR LOW HEAD ROOM LIFT CONDITIONS, TOP V:IJLHTEOE)ERAST%E_LOSEE D A
BRACKET SHALL BE A 13 GA LHR 7/4 TOP BRACKET .
WITH A MINIMUM OF (3) 1/4—14x7/8" SELF DRILLING SHOWN FOR CLARITY EET 4
CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON °
THIS DRAMNG. U-BAR ON TOP SECTION SHALL BE
INSTALLED ON TOP OF LHR TOP BRACKETS. NOTE:  (4) SECTION so|_|p A
DODR SHOWN. SEE SHEET
2 FOR U-BAR LOCATIONS {, . 16" DOOR SHOWN. SEE
‘s’E‘c%‘?.ﬁ"Su"A"ﬁn%“ﬁD . SHEET 2 FOR HINGE AND STILE
A 7 LOCATIONS ON QTHER SIZE DOORS.
SUPERIMPOSED DESIGN PRESSURE SEE NOTES 1 AND 2 THIS ~
LOADS ON SUPPORTING STRUCTURE gﬁ%Nst GLAZING
DOOR | DOOR
WoTH | HElGHT | UMIFORM LOAD EACH JAMB (PLF)
10=0°| ALL +150.0/-167.5
2 ALL +180.0/-201.0
AL $210.0/-2345 JAMB _BRACKET SCHEDULE
ALL +225.0/-251.3 DOOR | NO. OF [“pRackeTs | TRACK BRACKETS VEASURED FROM BOTTOM
ALL +240.0/-268.0 HEIGHT [SECTIONS| (e acH JaMB) E OF TRACK (ALL DIMENSIONS * 2°)
4 Q__P* (yB-US; Ql), 3 3
4 FAT [~ (JB-US). 10" (dB-US), 21-3/4" (JB-US). 36" (JB-US), 45" (B-US), 57-1/4" (B—U5)
) Q_|2° (9B-US), 14" (Q), 25-1/2" (JB-US), 34" (JB-US), 44" (Q). 63-1/4" (JB-US)
4 FAT P (JB—US), 10" (JB-US), 25—3/4 (JB—US), 36" (JB-US), 52—1/2 (JB—US), 83—1/4" (JB-US)
5 Q|2 (9B-Us), 14" (Q). 24-1/Z (JB-US), 32-1/2" (JB-US), 43 (), 49" ($B-US), 62-1/2 (Ql), 72" ($B-US
5 FAT P~ (9-US), 10" (JB-US), zz—s 4" (JB-US), 36 JB—US), 45" JB—US. 54-1/4" (JB-US), 63 (JB—US), 74—1/2Z" (JB—US,
5 8 QP (9B8-US), 14° (Q), 23" (9B-US), 34" (B-US), 46" (Q), 58" (JB-US), 66-1/2" (Q), 75-1/2° (JB-US)
5 8 FAT [2° (JB-US), 10" (JB-US), 25-3/4" (JB-US), 39" (JB-US), 48" (JB-US), 57-1/2" (JB-US), 66" (JB-US), 75-1/2" (JB-US)
SEE_NOTE BELOW

JOHN E. SCATES,

NOTE:
(JB—US) FOLLOWING DIMENSION DENOTES SLOTTED JAMB BRACKET ATTACHED TO TRACK WITH 1/4—20x8/16" TRACK BOLT AND NUT.

(Ql) FOLLOWING DIMENSION DENOTES QUICK INSTALL JAMB BRACKET INSTALLED IN BUTTERFLY SLOT. NO ADDITIONAL HARDWARE NEEDED TO ATTACH TO TRACK.

ALL DOORS GREATER THAN 8’ IN HEIGHT REQUIRE USE OF CONTINUOUS WALL ANGLE. SEE SUPPLEMENT TRACK CHART FOR DETAIS.

SERIES 170

COMPLIES WITH THE REQUIREMENTS OF IBC/IRC 2018.

igitally signed by John E. Scates, P.E.

177, 180-187,

AND II-'DRMATDN

IS DRAWING

1400,

THE DRAWINGS AND ALL OTHER INFORMATION OONTAINE HEREIN ARE THE CONFIDENTIAL AND FMEI'ARY PROPERTY OF WERI'EAD DOOR
IN WHOLE OR IN Wk Y NOT ETOOOPIED IN ANY ANYONE WITHOUT

THE PRIOR
OPERKI'EASALICEIEORMJ'IH]RIZATDNTOLEHmRMYPUmmmTHES’EUF‘CWRmmOF

STATIC PRESSURE RATINGS

APPROVED SIZES

1440, 1500, 1540

DESIGN PRESSURE(PSF): +30.0/-33.5

MAX WIDTH: 16’

MAX HEIGHT: 14’

MANNER OR DISCLOSED TO

IMPACT/CYCLIC RATED: YES
WRITTEN CONSENT OF

10/15/10

MAX SECTION HEIGHT: 217
CORPORATION AND ITS AFFILIATED OOMFANES THIS WNG
OVERHEAD DOOR CORPORATION. DISCLOSURE OF

WERIEAD DOOR_CORPORATION.

SERIES 170, 180WL
WS6, 16" MAX WIDE

. , PE
2560 KING ARTHUR BLVD #124-5
6

LEWISVILLE, TX 7505 . :33:46 -05'00" 10/25/10 |
rrormssou. unczrs s, ooy e | 12 % 51757 Date: 2021.04.13 11:33:46 -05'00 =i 01
VERFICATION OF WINDLOAD CONSTRUCTION TX PE 56308/F2203 e w1 12/21 b TS T
8 | 7 | 6 5 B



[> notes

12 GA ROLLER SLIDE ATTACHED TO
BRACKET WITH 5/16—18 BOLT & NUT
IN CENTER SLOT AND 1/4—20x9/16"
TRACK BOLT & 1/4-20 HEX NUT

THROUGH ANY TWO ALIGNING HOLES:

12 GA COMMERCIAL ‘A’ FRAME
TOP BRACKET ATTACHED WITH
(4) 1/4—14x7/8" SELF

DRILLING CRIMPTITE SCRE

ADD (2) 1/4—14x7/8"
SELF DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH END HING!

2" NYLON STORMGARD ROLLER
WTH 4-1/2" STEM AND 7/16”
PUSHNUT AT EACH ROLLER
LOCATION. 1/4" MAX BETWEEN
PUSHNUT AND BRACKET OR
HINGE. OPTIONAL— 11 BALL
BEARING NYLON ROLLER

HINGE IS 14 GA
#2 HINGE IS 13 GA

#3 HINGE (AND ALL ABOVE)
ARE 13 GA WIDE BODY END
HINGE ATTACHED WITH (4)
1/4—14x5/8" SELF TAPPING
SCREWS

18 GA NARROW BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x5/8" SELF
TAPPING SCREWS

14 GA BOTTOM BRACKET
ATTACHED WITH (4)
1/4-14x7/8" SELF DRILUNG
CRIMPTITE SCREWS (2) OF

WHICH IS THROUGH STRUT AND
AND (1) 1/4—14x5/8" SELF
DRILLNG RED SCREW

% OF TR
,.....,,5,.\'4\\
Jsh,
A
LR ¢
? l'

2y
l" '90' . 56308 ég;,
W CENSED o

LIS
‘\\S/ON \_E“\.

L=BAR LOCATIONS

8) SECTION DOORS WITH
(12) 3° 18 GA 80 KSI U-BARS \
LOCATED AS SHOWN

o [

14’ & 15

s (7) SECTION DOORS WITH
(1) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

I 1 1

(6) SECTION DOORS W
(9) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOGRS W
(8) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

| (4) SECTION DOORS WITH

1 (6) 3" 18 GA 80 KSl
U-BARS LOCATED

o] AS SHOWN

PLACE 3" U—BAR OVER LOW
HEADROOM BRACKET ATTACH THRU
; END STILE AT EACH END WITH (2)
1/4-14x7/8" SELF DRILLING

/ CRIMPTITE SCREWS.

' DETAIL F

2560 KING ARTHUR BLVD #24-54

NUM FRAM
DETALL E

AND NFORUATION, IN WHOLE OR I BART, A
ANY OF THIS DRAWING FORMATION ' Y

REF_DMG

LEMSVILLE, TX
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR FL PE 51737
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. TX PE 56308/F2203

13 GA ADJUSTABLE

. : INTERIOR FRAME
~SHEETMETAL SCREW
K/ . TOP FIXTURE

THE DRAWINGS AND ALL OTHER INFORMATION OONTAINE HEREIN ARE THE CONFIDENTIAL AND FMEI'ARY PROPERTY OF
Y NOT BE COPIED IN ANY TO ANYONE WITHOUT THE PRIOR
NTBIEWOPERKI'EASALICEIEORMJ'IH]RIZATDNTOLEHmRMNPUmmmTHES’EGF‘CWRmmOF

ATTACH U-BAR WTH
(2) 1/4-14x7/8" SELF

DRILLING CRIMPTITE SCREWS
AT EACH STILE LOCATION, TYP.

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 16’

DESIGN PRESSURE(PSF): +30.0/-33.5

MAX HEIGHT: 14
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 217
FEAD DOOR CORPORATION AN TS AFTILATED CONPANES,  THIS DRAWNG
WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION. DISCLOSURE OF
mmo DOOR_CORPORATION.
SERIES 170, 180WL
WS6, 16" MAX WIDE

waR D—411047

10/15/10
10/25/10

4/12/21

1



		2021-04-13T11:33:18-0500
	John E. Scates, P.E.


		2021-04-13T11:33:31-0500
	John E. Scates, P.E.


		2021-04-13T11:33:46-0500
	John E. Scates, P.E.




